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VIl Semester 5 Year B.A.,LL.B. (Maj.-Min. System)/B.Com.,LL.B./
B.B.A.,LL.B. Examination, October/November 2022 (June 2022)

Duration : 3 Hours

LABOUR LAW -1

Instructions : 1. Answer Q. No. 9 and any five of the remaining

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

questions.

2. Q. No. 9 carries 20 marks and the remaining
questions carry 16 marks each.

3. Answers should be written either in English or
Kannada completely.

Define and differentiate between Lock-out, Lay-off,
retrenchment and closure.

Wen BT, YUTBREN 0P, B[ TRWDNT B YU FOBY
%ﬁsﬁfa@maﬁ QRINTIY, 339, 839 DR TATUR T JYANTS), WTCAD.

Analyse the submission and certification of ‘Standing Orders’
under the Industrial Employment (Standing Orders) Act, 1946.
ADIev e:stﬁeéﬁe;mq BROBHRA T, BIREFETOROT WHR, eNT odpews
(m@o&:e eSTIe3NG) 9PV, 1946 wf\ DF e2R0.

Examine the provisions pertaining to the registration of Trade
Unions under the Trade Unions Act, 1926.

TOWF T ROPNG PO wrﬁ\ QTR ﬁomﬁeﬁ@t TOREF T FOPNY
BRI, 19268 RO HdedRD.

Explain the appointment, powers and functions of a
commissioner under the Employee Compensation Act, 1923.
REiele] Edﬁwwamd SRV, 19233 803 032083 Sea8r508,
9T ToNw f@OﬁJFﬁ@@L NNORD.

Max. Marks : 100

Marks : 16

Marks : 16

Marks : 16

Marks : 16
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Q. No. 5.

Q. No. 6.

Q. No. 7.

Q. No. 8.

-2-

What are the different benefits available to the employees
under the E.S.l. Act, 1948 ?

SECISIeRReDI-IENNE Fo000C, 19488 ©RODY wPITON DT
:)’@m;ﬂﬁe;o 3R ?

Explain the concept of deduction. Analyse what deductions
may be made for absence from duty and for recovery of loans
under the Payment of Wages Act, 1936.

Ne3] RS e,—u’@segﬁoﬁa wrﬁ\ DRORD. VBT RO (ToR8)
RV, 1936T R, %@ﬁ%ﬂ rgdo TOWTIMIDE TN To®
POTOTORERONT VRING FOWOR mjagébdaw 2B TRIT oSN
27} DFLAR0.

What are the provisions pertaining to ‘Health’ under the
Factories Act, 1948 ?

To0oFSNY 5003, 19483 ©RODY, wdReT 00TIN QTS
903N BRR)R) ?

IR

Marks : 16

Marks : 16

Marks : 16

Write short notes on any two of the following : Marks : 2x8=16

83 BPNIRNGE, CINTITTH DTHEE OFTV 3T ¢ 28000 :

(@) Voluntary Arbitration under the Industrial Disputes
Act, 1947.
WAL, NG DTN 2003, 19478 ©&R0DY, B30 B0
=R T, -

™8 %

(b) Immunities of Trade Unions under the Trade Unions
Act, 1926.
FIFT FOPNS P, 1926 T B0 FoeNFT
TOPNPN BT DI0WENLD.

(c) Dependants under the E.S.I. Act, 1948.
SPFTT Do, QR BHODT 19488 RO, STWOOWT.
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Q. No. 9. Solve any two of the following problems : Marks : 2x10=20
83 BENT QTR BBOFNTI), WimOR

(a) Thomas, a member of a registered Trade Union resigns
from the said trade union. He claims refund of subscription
amount paid by him. The Trade Union refuses. Decide.

TR QOWOWRD  WOTD IOV ToeFT  ROFT
ATRTNTI0. ATH ST Toweosdd AT wWIB B3 AT
BT 808TONTWOZ FePBEROBRY. ToaDF T R0Fe) WD
Be0B030TY, STRDABY. AGFOD.

(b) A development officer of the LIC of India is dismissed
from his employment. She challenges the impugned
action on the ground that she was a workman. Decide
whether a development officer is a workman or not.

POTS0T0 280w I dNeodw) 3?& %), W& eﬁ?pw@@@
SIaLplelerervy Re000T TWINPPAIZT. & WHTIOCI0 TV
TAOFTE DO T [RA B3 WD Fz0WIY, TR
ZIOTELO3 23020 VW ANMOTB QOSH 2, eﬁzpa%% eﬁCpfa@cﬁaa’p;L
TOWF B NOT DONEFRWITOTC 2

(c) Ajoy, a motor driver driving with a high speed rams into a
tree and gets killed in the accident. His employer refuses
to pay compensation on the ground that the accident was
caused by rash and negligent driving. Decide whether the
employer is liable to pay the compensation.

e923RCCTF NOW WOBS WOLTID 3,08 TYPIDOD masasmq
WOROR TE WTPR WTFIBRY, AP TR, B
BROCTIO QT 98C BEN TONR LTONTHTSOWOT TWITIDDY
WODOWATOOT SN ToT FOTIT VLT LI, BQFI0TD
OB, B3 FFOHRY, BRAT TOTITITIY, DB
m@ﬁ@mﬁo@gﬁo&ve Q0T JFPFOD ?




